
Matt in 2 Zügen (Es ist jeweils Weiß am Zug!) 
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Lösungen: 
 
[01] 1. Th8+  KxT  2. f7# 

[02] 1. Se6+  fg6:  2. Dg7#  oder 1. Dh8+  LxD  2. Sh7# 

[03] 1. Sf6+  SxS  Sf6# 

[04] 1. Lg5:+  DxL  2. Tf7#  (oder Df7#) 

[05] 1. Tf7: (droht Th8#)  TxT  2. Tg8# 

[06] 1. Dh6:+  KxD  Lf6# 

[07] 1. Sb6+  ab6:  2. Ta4# 

[08] 1. Th5+  SxT  2. Dh7# 

[09] 1. Sg6+  fg6:  2. De6# 

[10] 1. De1+ (lenkt den Turm ab, der den Bauer auf g2 fesselt) TxD  2. g3# 

[11] 1. Dh6 (droht Dg7#) gh6:  Sh6# (oder Se7#) oder 1. Dg4 g6  2. Se7# 

[12] 1. Le5+  SxL (oder Kf5 oder Kg6)  2. Dg5# 


